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Note

4 :

MANAGEMENT
PAPER - III

Yo &Lel
Yy-I11

: This paper contains Seventy five (75) multiple-choice, assertion/reasoning/
matching questions. Each question carrying TWO (2) marks. Attempt All

the questions.

il wsodl daldr (ew) oigRselly usdl, w-vilg @it Assl ol-tiadarl Wl

B. M WAl ol auai-l §. uds wa A4 (R) @ 8.

What do you think is/are the
reasons for low capital formation in

underdeveloped countries ?
(A) Vicious circle of poverty

(B} TInternational demonstration

effect
(C) Lack of entrepreneurship
(D) All the above

One of the important elements of the
universal communication model is

(A) Sender
(B) Translator
{C) Stabilizer

(D) Motivator
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vieu[Asaia sl ol 3l w@unini

s1290 @A ddl g Rkl oi?
(A) atzioﬂj e dgun
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The IDBI was established in

(A) 1964
(B) 1965
(C) 1966
(D) 1967

State financial corporations have

been established by ................... .

{A) State Government

(B} Central Government

(C) Any Private Organisation

(D) None of the above

State Bank of Indiaisa ................ ;

(A) Public Sector Bank

(B) Private Sector Bank

(C) dJoint Sector Bank

(D) Non-Nationalised Bank

Management-111

dRoflbus ... ... AdHi wyae

8.

(A) 1964

(B) 1965

(C) 1966

(D) 1967

20y Al L gl |Ad
8.

(A) Q1% U2

(B) % AR

(C) 5D s vidll Aren

(D) il 25 v R

Re G wis Sl ... .
(A) adr &s(lu ds

(B) il &-{lu ols

(C) *Aysd af{lu ol

@) [ sl 6is



Product mix refers to :

(A) Width of a product line

(B) Depth of product lines

(C) Consistency of product lines

(D) The number of products offered

to market place

The Delphi technique uses in

....................

(A) Mathematical model as input

to the decision-making process
(B) A top-down approach

(C) A panel of experts making a

series of independent decisions

(D) None of the above

If X and Y are mutually exclusive,

events, then if X occurs, .................. .
(A) Y must also occur

(B) Y cannot occur

(C) X and Y are independent

(D) X and Y are complements
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10.

11.

A oﬂe way ANOVA test :
(A) is a left-tailed test
(B) is a right tailed test
(C) is a two tailed test
(D) Above all

Find from the following un-related
pair of joint-venture/take-over

organisation :

(A) TATA-DOCOMO
(B) TATA-TATELY

(C) TATA-JLR

(D) TATA-WALL MART

The Environment Protection Act
....................... governs the pollutior:

control norms in India.
(A) 1984
(B) 1985
(C) 1986

(D) 1987
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10.

11.

4+ A (One way) »-idl (AGOVA)
R :

(A) Swfl sug-l 2% ®
(B) ol ouygHl 2 8
(C) ol suy-tl 22 B

(D) GuURiL GHL 2 8

AArmiell dysd AU Ha@dA 5 ¥
i 2doilad Asy & o wel :

(A) 2121-Sisil

(B) alel—z2dl

(C) 2el—FuauR

(D) akt—alauls

sul wulam yRa suel ... ... UEMR

siga-l Rudid Rydn 53 87
(A) 1984
(B) 1985
(C) 1986

(D) 1987



12.

13.

14.

Personality tests aimed at ............. .

(A) Measuring the intelligence of

candidate

(B) Measuring the wisdom of

candidate

(C) Measuring the basic make-up
of the individual

(D) Measuring the attitude of
candidate

Which of the following is sole vehicle
for creating and delivering customer

value ?

(A) Marketing channel

(B) Marketing communication
(C) Marketing mix

(D) Marketing research

Data that are converted to a useful

form for decision-making called :
(A) Primary data

(B} Secondary data

(C) Iﬁformation

(D) Research input

Management—III
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(A) GHeal olgd *u steal

(B) GHedlRl WRUBLAL HIY H2
(C) ul3dtl Yoo daRli-+l 1y 2
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(A) wafis Qo
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D) AW S1—ye
[P.T.O.]



15. The problem(s) of internal rate of
return (IRR) :

(A) IRR can not be calculated for

non-conventional cash flows

(B) Sometimes it is against the
value maximisation goal of the
organisation especially in the
context of mutually exclusive
projects selection

(C) It does not have the value
additivity

(D) All of the above

16. Trading on equity means :

(A) sales in relation to equity
capital
(B) raising debt capital in addition

to equity capital

(C) adding operating fixed
expenses to generate more

profits

(D) none of the above
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UM ¢
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17.

18.

While calculating cost of capital the
proportional weights of equity and

debt should be calculated based on :

(A) Balance sheet values of equity

and debt

(B) Market values of equity and

debt

(C) Equity at market value and

debt at balance sheet value

(D) None of the above

The cost of retained earnings

(reserves and surplus) is :

(A) equal to cost of equity

(B) equal to cost of debt

(C) equal to zero

(D) none of the above

Management-III

17.

18.

Hol wal-fl a@az] sl aud 38l x4
2 WU arzel, LAl si-L

PR om@d ] sUnl 20d 8 ¢
(A) 48l A saug say Ale yeu
(B) 38l vl tald wie yeu

(C) iz »yeu »uadd 48l wq Gd-y

Ale ey gai

(D) unidl vy R

MrlHd sHIRRE W (cost of retained

earnings reserves and surplus)

Ned ¢

(A) &5ddt wd sie2
(B) 2di Wi 410
(C) g oL

(D) Guanie} 23y e
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19.

20.

21

Management-III

Import of goods for re-exporting to

another country is called :
(A) on board import

{B) extreport

(C) on board export

(D) none of the above

One of the following is not true with

reference to GATT, identify it :

(A) Kennedy Round
(B) Tokye Round
(C) Davos Round
(D) Doha Round

F.W. Taylor wasin .......c.cccovvven.... and
he began his carrier as a worker in
worker in

midvale speed

Philadelphia USA.
(A) China

(B) America

(C) Russia

(1)) France

10

19.

20.

21.

ofle gl g1ell (A5 s M2 argl
................... s 6.
(A) wli—olis $+Uié

(B) sugule

(C) wlt—ollS Asuuie

(D) Gu-umiel 23y

32 (GATT) - deoll lRA-eiigfl 218

AR Al — o]l aqdl :
(A) 3-8l UGS
(B) alsdt UGS
(C) Saix UG-
(D) slei UGS

.........

Hi gdl, 24
2R s1—FleuSeflunrll Hlsda 2dls adumi
SHER ald dxal dudl s 4E a3 53
el

NS S61ey. 2UR

(A) A+
(B) »d[2s
(C) W

(D) 1



22. The horizontal expansion of job is

23.

termed as :

(A) Job enrichment
(B} Job enlargement
(C) Job sharing

(D)

Job involvement

Constant marginal utility of money

means !

(A) marginal utility of money

remains same

(B) marginal utility of money
changes with changes in the

quantity of money

(C) there is no relationship
between quantity purchased
and the utility per unit of

currency

(D (A) and (C) both

Management-III
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22.

23.

s utae [ ...,

8.

g} LAY

(A) s1d a[sdyyedl
B) sd aaxt
(C) 4 Rxeldl

(CY s dsiagl

Al 2Add AMid Guaislldl ved :

(A) -l AHid Guailicu dvfl 28

&

(B) ~uRli-. el 381 18 el

Anid Guaeldl asaid 8

(©) el wel v yaw-l visi gls

Guadllar @A sidue deiy el

D) (A) i (O

{P.T.0.]



24.

25.

26.

Total utility of a quantity of a
commeodity is maximum when the

marginal utility is .........c.cccoe... .
(A) some units

(B) zero

(C) some negative units

(D) none of the above

Grapewine is the term used in

relation to :

(A) Information comm unication
(B) Individual commanication
(C) Integrated communication
(D) Informal coramunication

Human Resource Accounting is

related to :

(A) Strategic. management
(B) Managrament accounting
(C) Corpeirate governance

(D) Labt,our cost

Managemerat-II1
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24.

25.

26.

Rt weuql s GudiBial didl Heny

S1d 69 o M Guaollar ... ...
(A) aAlst HLsui

(B) 4

(C) HiSls slASs Al

M) GuHil Ay AR

STRTCTRAC [ Al M2y B,

(A) MUl wRAldaz
(B) HEdd wRdRiuz
(C) AsAlsanlla R 2213

D) d[@s wlRdlkiaz

Hida AYel M gl ... 1A doiy

4213 8.

(A)  Huls e
(B) daa- uMiugld
(C) AL g

D) wygR vy



27.

28.

29.

To use an F distribution, the

random variable must be :

(A) a discrete

(B) a continuous

(C) a qualitative

(D) either discrete or a continuous
From investors point of view which
financial product is more risky ?
(A) Preference shares

(B) Debenture

(C) Equity shares

(D) Convertible debenture

Why cost of debt is always cheaper

than cost of equity ?

(A) Debt is time specific

(B) Debt has the tax shield

advantage

(C) (A) and (B)

(D) None of the above

Management-II1

27.

28.

29.
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F RAdeid auw U2 wgles ag

Slal %371 ©.

(A) »Rdd
(B) Add
(C) 3eucms
(D) »Add HAU Hcd

AsasiAL Aol 585 Auda axg

qui? Awdl &7
(A) s A
(B) slHdar

(C) wy A

D) sadlow Slelar

Ay 38l WA sl e vy dRan W

W2 Wl sy §7
(A) YFBad &g
(B) 24i7l 2a fles sl diu B
(C) (A) & (B)

M Gunidl sid ua «ld
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30. Marketing information system is the 30. I S8izilat Wzen el Awen O

system of information that flows to
5% ..., A Hee sal Nadla iy 6.

assist :

: (A) WMiad WA
(A) Promotional Programmes

(B) Sales Personnel Development (B) A sl Qs

(C) Marketing Planning and (C) Il 2l A Reldisze
Decision-making
(D) uidla e
(D) Marketing Mix

31. The process of selecting, organising 31 didlazail sdl qe-id wdle 53,

and interpreting or attaching NS, HM A el 2] vy L

meaning of events happening in the < .
sealMl 2ud 1.

environment is called :

(A) usulsd (Perception)
(A) Perception

(B) Attitude (B) qael (Attitude)

(C) Personality (C) <ul3dca (Personality)

(D) Learning
(D) [fvg (Learning)

Management—-I1I 14



32.

33.

34.

Employee induction refers to :
(A) coaching to employee

(B)

mentoring to employee

(C) increasing the morale of the

employee

(D) Introducing employees to the
organisation, culture and

situation

Job analysis involves :

(A) Job description and job
specification

(B) Job order and job transfer

(C) Job interaction and job-

co-ordination
(D) Job satisfied and job change

Which of the following tests should
be used to compare the means of two
population if the samples are

related ?

(A) Mann-Whitney test
(B) Wilcoxon test

(C) Runs test

(D) Spearman’s test

Management—III
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32.

33.

34.

sl gy ouedisll sz sl

s49(1%1 Ha dela o,

(A) sHadA diedin 2uydl

(B) sdutdld Holealr
() sl sig/GHol aml sal

(D) s A LA, waellsell v,

ylRalfael ks sd

sid [RQadyg AU 53 6.

...........

(A) sid agfd 21 5lu-I (Qai
(B) sl gs1 A sl oedl
(C) sl iidBun vid s Asan

D) selell Agre HA sl 38R

o MEal Asondeal siu dl QA 59
AU 6 yM el sl wviHell we

Quzly 7

(A) Mann-Whitney test
(B) Wilcoxon test

{(C) Runs test

(D) Spearman’s test
[P.T.O.]



35.

36.

37.

Time series is based on .....ovvvveeeeeoonn.

information.

(A) Time based information

(B) Work based information

(C) Analysis based information
(D) Experience based information

External environment scanning

involves :
(A) Weather forecasting
(B) A study of air circulation

threats

(C) Identifying and

opportunities

(D) Identifying strengths and

weaknesses

Which of the following banks
regulates the Foreign Exchange in
India ?

(A) Foreign Bank

(B) Reserve Bank

(C) Local Bank

(D} Commercial Bank

Management—II1
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35.

36.

37.

AMAs sig] A YL

iedl .

............

(A) uxa su2q sulad
(B) sid 2pafa uRdl
(C) yase walRa Huldl

D) wigeia spald ulkdl

Ol YL duel Al Ade

53 8.

(A) s a4

(B) sl vawa-dl wey
(C) axflail #in asi-{l ilavd)

M) cusid 24 Hafewia savd]

CURAME §oluRL GUR 56 G-se [Maat

Ay

87
(4) wea-dl a-s
(B) xnd ars 2tz S-gluy
(C) auls 6-s

(D) 4wl Qs



38. Strategic alliance between a foreign 38

company with Indian company is

governed by ... .

(A) SEBI

(B) Companies Act

(C) Income Tax Act

(D) All of the above

39. A manufacturing company 30,

producing pharmaceutical product
entering into production of chemical

is an example of :

(A) Forward integration
(B) Backward integration
(C) Expansion

{D) None of the abov-e

Management—III ) 17

afladly syt 08 {agell sudld eyeicns

ASR ......... fl udn wy 6.
(A) el

(B) syl siyel

(C) tlas—al stuel

(D) Gyl ol %

gal eirlad] $udl el saq Gewemi Mas)

dld ... o Gela@ ARy,
(A) sizas S-dlad

(B) asa$ S-dlilu

(C) [QAdaw

(D) Guz-iiel i3y R
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40.

41.

42,

Technology development and

modernization fund is provided

by :

(A) SIDBI
(B) NABARD
(C) KVIC

(D) SIDO

Headquarter of World Bank is

(A) Washington D.C.
(B) Tokyo

(C) New York

(D) Moscow

In India, the first report on

corporate governance was given by :

(A) Narayan Murthy Committee

(B) Kumarmangalam Birla

Committee

(C) Naresh Chandra Committee

(D) Unjit Patel Committee

Management—III
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40.

4].

42.

2sidl sl A 2uylse ss

(A) tsoll

(B) ~lleus

(C) 3dlpusl
(D) HAHSSIAL
des Glgr, yuu Hus
(A) aidideq €l A}
(B) 234

(C) -yl

(D) sl

oMl sivl2 Ryuddl Has vdag
.......... Al gl

(A) e yld sMR

(B) guioen ofleal sAR

(C) -iadg s

D) G2d w2 sER



43. The pre-conventional, conventional 43, gl QM A2 534l yd-3[3alq,

and principled levels of moral 3ol # ARs Rst Seilis w2

development influencing business

(a2l 920t ........ 551,
ethics 1s given by :

(A) %. daiia
(A) J. Keogh

(B) w4, siedmdl
(B) L. Kohlberg

(C) %. suu
(C) K. Kumay
D) 2. st
(D) I. Kant
44. Techniques of managerial control 4. ... Hi dAdxdlad »isn wald
are useful in : Guyiall 8.
(A) selection of technology (A) Zs-lidioo-l weieali
(B) profit planning (B) 51 2%

(C) verification of cost © vl wd suaan

(D) shareholders meeting N . ,
(D) AR ol ueudi

Management-III 19 [P.T.O.]



45. A leader who welcomes the 45

46.

47.

participation of the group in
formulation of policies and decision-
making is :

(A) Autocratic leader

{(B) Dictator leader

{C) Democratic leader

(D) Free style leader

Who is the author of the book “In 46.

Search of Excellence” ?
(A) Lec lacocca

(B) C.K. Prahlad
(C) Tom Peters

(D) Akio Morita

Who is the author of the book “Made 47.

in Japan” ?

(A} Bruce Lec
(B) Akio Morita
(C) Bill Gates

(D) Tom Peters

Management-III 20

Adl 3 % [FAela szal 24

........

AtAi-l 4SA™L 2L AHauAL
MLA512 6,

(A) [Rigal@siz A

(B) &LMME AdL

(C) diswdl Al

(D) 3sa Al Aal

e ud s AsAdrU"’ YasHl Avs

(A) dl 2ualsis

(B) 3. wsas

(C) 24 Yl

(D) w141 Hidla

CUS S AU YacselAYS L.,
s 7

(A) gu dl

(B) dla Hidlat

(C) ofle Sty

(D) ein led



48.

49.

50.

Skimming pricing implies :
(A) Cost plus pricing

(B) When you keep price low to

enter the market

(C) When you keep price high to

enter the market
(D) All of the above
Industrial marketing involves :
(A) Business to business
(B) Customer to customer
(C) Online marketing

(D) Customers to business

The stage of product life cycle in
which marketer became cost

conscious 18 :
(A) Introduction
(B) Growth
(C) Decline

(D) Maturity
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48. el (Skimming) e2izarl [3Ha

49,

50.

Ratel »ed

(A) wd aw Bud Rale

(B) oMl MAnal e o Baa =l

Ml 29

(C) oMl MAAU I 2ulR (33 Glll

AL 209

(D) Gu-L oa

itedifBls WELLL wuda 3 8

(A) dul 44l
(B) wesdl s
(C) inels il
D) Alssiel dal

At a4 AsHl A2 s doisy wd

d§ 44 A o 97

(A) Ustug semrdl svid ag

(B) qlé-dl doeissl

(©) Qe 1A as-l sl detsst

(D) WRusadldl dosst

[P.T.O.]



61. Agency costs are comprised of :

(A) Salary, bonus, stock options

and perks

(B) Auditing expenses of the

financial statements

{C) Monitoring of all expenses such
as management information

systems for regular reporting
(D) All of the above

52. LIBOR refers to .....ocoovveevvvvnnnnnn.. .

(A) Liberalised system of foreign
exchange transfer between

banks

(B) Inter-bank lending rate for

Eurodollar at London

(C) Lower rate of interest at which
banks in London lend pound-

Sterling

(D) Lowest rate of interest
prescribed by the Reserve
Bank of India
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51.

52.

N [ PES] ) ol oAl wiy 8.

(A) MAUR, ofi+d, WAs AU it

Al
(B) ~ueusla wstsiql waulatig »lisidlot

(C) ot vl (M Fal 3 wuus
Mnead HR2 AAxH2 Swsdan

Hew

(D) QUL oAy
LIBOR cud & 3 :

(A) 651 azd wgyl oRBaima-

dogla-l Gel: ugli

(B) dse wid YRislar M2 didr ols
w2

(C) ds-til wul 6isl utGrs—zezc{IQL-j,
B $2 8 Al cux-l 82 Al

D) 2eluds 522 s23d i

A 2pw w2



54.

refers to the practice of

....................

pricing exports at levels lower than

domestic price.

(A) Import price
(B) Ezxchange rate
(C) Dumping price
(D) Export price

The Law of demand states that
“demand varies inversely with price,
not necessarily proportionately”

however suffers from limitation/s :
(A) Change 1n taste or fashion
(B) Change in income

(C) Change in prices of substitute

(D) (A), (B) and (C)
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53.

54.

Fusta Bud gz 2ioveel Ead sl it
ofld el var wsiRl ot ugldn

PRCTUNLS

(A) 2uad Bua Rala

(B) [y w2

(C) s{{a [3Ha

D) s Bud

HioAL [ omud 8 % Cyio [Bud d
fuld Fld seadw 8. %31 ] §

uqz Fla’7, A s Halerwil den sl

s

(A) e 2l SUAHL 3SR

(B) sl 33512

(C) Al Buainl 3812

D) A), B) »1 (C)

[P.T.O.]



Bb.

56.

Out of the following which is not a
characteristic of Indifference Curve

(IC) ?

(A) Downward sloping to the right

(B) Non-intersecting

(C) Concave to the origin

(D) Higher IC, higher is the level

of satisfaction and vice versa

Objective of communication is

..................

To determine the cost of

communication

(B) To seek compliance and ensure

uniformity in action

(C) To increase quantity of

information

(I} To discuss problems related to

| English language
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55.

56.

SIPETETE | 54 qaeL Gerdld/des

........

asvild Adl (IC) :

(A) ol as Hadl azs sag

(B) [Biri—dent

(C) Gean e vidiw

(D) G2 a2 asul, Ading G2 xR

w Gadl dd

Hledl da-l &g

(A) Hadl A=Al v A5l szt

(B) sidai iszudil vl 19 AR

qael-l

(C) Ml ool auiaunl

D) »A ouMl A4 Aswuda

W >l



57.

a8.

59.

- (©)

Oral communication in organisation

Are ..o, .

(A)

Informal communication
(B) Industrial communication
Integrated communication
(D}

Formal ecommunication

Time value of money is because of :

(A} Sacrifice of the current
consumption

(B) Forgoing investment
opportunity

(C) Inflation and risk

(D) All of the above

The rate at which RBI lends to banks
under the Liquidity Adjustment
Facility (LAF) is called ...........

(A) Rapo Rate
(B) Reserve Repo Rate
(C) Bank Rate

(D) Cash Reserve Ratio
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gt i1l My Rdl Az
.

(A) »dfAs wRdl Az

(B} »iteils suladl daz
(C) wvis =3l AR

O als wRdl daz

Al aMy ey

(A)  dd™i aqRpU St
(B) euid/HIdy 2Ls ds
(C) §2UL ¥ B

(D) Bu-l ol

2106021 dlsdlslél visaredie Hldlél
(Viang) 60 G5 ¥ 63 4l 53

-

q o £ 53y,

Q,)

37
(A) L R2
(B) Axd w2
(C) ds
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60.

61.

62.

The Green marketing concept refers

to :

(A) Agricultural marketing

(B) Environment friendly

(C) Agro-based industrial

marketing
(D) Euro-agricultural marketing

Which of the following is not a

fringe benefit ?
(A) Free dental treatment
(B) Dearness allowance

(C) Travel allowance

(D) Food allowance

Who introduced the concept of time

and motion study ?
(A) F.W. Taylor

(B) Robert Owan

(C) Charles Babbage

(D) Elton Mayo
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60.

61.

62.

Al Wigelor et eule

........

REa 52 &,

(A) »Willseuza ol

B) Holley yulqra

(C) 3 Sims 2ileliBs uIla

D) yi-llsura wids
Aol 5§ et Add- alet g3 ¢fl?
(A) M$d €d URAR

(B) Himaldl ez

(C) A oey

D) wiialgh oy

UMY ALY B (A AU AL vULY SR

LA 5417

(A) »\§.S616y. 242
(B) R14é lan
(C) wued ase

(D) dieer 1yl



63. Least squares method minimized 63. =y-d¥u 949 ugld (least squares

the - Method) ........... Al HEYU 53 9,
(A) Y 2 X el 92l dglad

(A) Difference between the Y and

(B) uH s »d (Sum of the

X values
eTTors)

(B) Sum of the errors (C) UM »ig 2534 N3 (Sum of the

squares of errors)
(C) Sum of the squares of errors

D) an s 4 Y 4edl (Sum of the

(D) Sum of the Y values Y values)

64. The General Electric Nine Cell Grid/ 64 1l eieet SaAsAs S e

matrix was designed and developed . . . .
sllsfdardl HulgL i s ska.

DY oeveinnrenisnnee .

(A) i
(A) BCG

(B) @.9.
(B) GE.

€y A=l
(C) Mckensey
(D) Philips D) sldha

27 (P.1.0.1

Management—II1



65. The “Art of War” book is authored  65. “‘dll 21é 2 4"’ Yads ............

by : Avis glRL AwIdd 6,
(A) Warren Buffet (A) dii oide

(B) Micheal Porter (B) wsa W
(C) Sun Tzu (C) ¥y 3 (TZL)
(D) Philip ‘Kotler (D) v sieqz

66. Internal recruitment source of 66, slu) oy2d] Hi2g A5 wrdl e

persommel i - Q._

(A) Promotion (A) sgdl

(B) Advertisement (B) M&3Ud

(C} Recruitment on gate (C) e 4R odl
D) University-College D) yRaRid-5dy

67. Organisation’s old and simple is 67. yamidstel Wil we A W2

(A) Line Organisation (A) s qaaeyds

(B) Functional Organisation B) swlauz Qo

(C) Committee Organisation

©) AR gy
(D) Matrix Organisation N

D) afs RS TR
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68.

69.

70.

Who has advanced the Stewardship

theory of corporate governance 7
(A) J.H. Davis and others

(B) D.R. Dalton and others
(C} D.C. Hambrick and others
(D) None of the above

In the four classification of social
responsibility of business proposed
by Archie Carroll, which one of the

following is not included ?
(A) Economic

(B) Legal

(C) Ethical

(D) Political

The dividend on equity shares is
only paid when dividend on

.......................... has already been paid.
(A) Debenture

(B) Preference shares

(C) Bond

(D) Equity shares
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68.

69.

70.

siwlie Al @wadallu a3l 58
[asaiad)?

(A) .9 Sl A ol

(B) Sl.wuz. Sice i oflonwii
(C) sl.l. enslls 2 ol
(D) Gu-iigl Ady R

Ul Fd gl evied ade qadl
AMllFs gl i wolsan

lEA-unisll sy asllsza wufase «l?
(A) 2ulds

(B} smeislu

(C)y -l

(D) Axélu

ABU AL 42 [BRASS s5q cud o

s, wdR [Blas-s R Y

Al i,

(A) slefar
(B) Rs-u AL
(C) olirs

(D) S5l A
(P.T.Q.]



71.

72.

73.

One of the following is not the source

of recruitment :

(A) Educational institute
(B) Competitors organisation
(C) Employment agency

(D) Terrorists

The main objective of 360° appraisal  72.

is to bring for :
(A) The training effectiveness

(B) The uniformity of cost

(C) The clarity in action

(D) The subjectivity

Product management do not cover  73.

one of the following aspects :
(A) Managing product mix
(B) Managing product item
(C)

Product coordination

(D) product life cycle
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71.

AlRArmiel 516 245 o1dle wllcrar &l?

(A) dalds Azt

(B) slR&d auarends

(C) ziwouz ax==Al

(D) sl

....... alqdl

360° Heuis--l you &g

Wl 8.
(A) el muTslREdl
(B) wal-{l 2A53ual
(C) stw/lBuHi 2usedt
(D) agalda

axg/Aele daldn LAl 515 As

olioictrl A 53d l?
(A) el Hlad A+ s
(B) Vel axqdy, dAtd 534
(C) el Asdr

(D) Uely A A



74.

75.

Regarding strategies and tactics, it

may be said that :

(A) strategies and tactics are those
elements of plan which specify
how objectives are to be

attained

(B) strategies are set after tactics

are specified

(C) strategies are formulated

without regard to objectives
(D) All of the above

The GDR

in the context of

International Finance means :
(A) Gold Depository Receipts
(B) Golden Depository Receipts
(C) Global Depository Receipts

(D) Genuine Depository Receipts
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74.

75.

UL M £1AUY, (tactics) WIS sSdM
WA B
(A) HeUAL 2 Bl A Yol

Ml 2490 9 ¥ & 3l Jad U s

d suld &

(B) eiada sl sul wedl eyeruxl

HSAUML 2 &

(C) Sgiln sl vl AL gL

gl »d 8
(D) Gu-l saiy

diazendly aan qee{di wsluur

»2d :
(A) les Bzl Alen

(B) oties+ Buifle]l rdlex

(C) vdioid Budledl Naflexn

(D) -y Buiflel fafieen
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ROUGH WORK
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